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01 At 2t 2l 27,370 28,800 A 1,430
OFAZH g & =4 120,000& 105 * 13l 1,200
OMgDl e & 23 222 MH
250,000 »2& *23] 1,000
OmJIEx=A 28= ¢ 150,000& 11 1,650
OstZdilstAE Il=l 150, 000& x29H »23| 8,700
OMII=H SE2RI(FLY S)=4|
7,000 x6H 602! 2,520
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2A: TAEZE
Hu: i NE MBHY ZM(BFLS/HIIL)
Sl MyI 2 U HEE CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHYIE MelANE 28T Ia3E HEES
100, 000& »9H 900
OFALSAX MEE (AT S)
200,000& =122 2,400
O8AER HIE 2e=AH &I 7
90,000& *50H 4,500
OS42R HII2 442 ERUS(F) AN
150& =30, 0004 4,500
02 =224l 277,840 268,490 9,350
O X+l 259,150
— HaXE(1200) 1,900& +304 *12CH+300 205,200
— K= (1CH) 1,900& 304 *1CH*150 8,550
— ZHI(E2H, XHXI)
1,900 x204 *3CH*100 11,400
— A, g8l E8IRX € 425 2
2,000,000 =17 CH 34,000
OEE = (HIIAAM, HSIHM Z&)
1,000,000& »17CH 17,000
OJIEHBZRZ(HNERES)
65,0003 »13CH »23 1,690
202 o4dl 16,800 16,800 0
01 = LH o4 1l 16,800 16,800 0
OsaSsMIl fEXMe 28
20,0003 «2H 152 «12& 7,200
QugMy )| Mel ZLHALI(2EA)
10,0003 «8H 10« 12& 9,600
206 M= Hl 70,800 86,400 A 15,600
01 M= 4l 70,800 86,400 A 15,600
O3 & 22E PPEN HAH
800& *6,0000H 4,800
OMYINEEHM RASE ME(63)
2503 *22,00000 x12& 66,000
301 et d = 3,500 7,100 A 3,600
09 HALAHI E& S 1,400 5,000 A 3,600
OFATALXR HIISHMElAlE As =HOIX B4
7,000& *50H *43 1,400
NMIIEEd=s 2,100 2,100 0
OMegES(IsHIIE) =8 = SY A& 2,100
—i®= 1,000,000 15 1,000
- = 500,000 15 ™ 500
-& o 300,000& 25 600
307 gl2tol & 185,500 152,000 33,500
05 RIZHRIE 3 185,500 152,000 33,500
OSAER HIIZ2 fEX™elb
125,000& x1, 100 137,500
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2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXeJl BHEXE dZ22 A
25,000,000 =104 2 25,000
OZsHIIS(EMES)M2l  230,000&*100E 23,000
401 A& HIZ 201 8] 25,000 35,000 A 10,000
01 A& HI 25,000 35,000 A 10,000
OMgI| HHEXE 225 2 22l (FY, o9,
*=3) 500,000 2004 2 10,000
OMdDl BHEXE KA 5,000,000 =34 2= 15,000
405 XtatE SHI 9,000 9,000 0
01 HatH ESFH S 9,000 9,000 0
ONMESE 224+22)(3BER)
300,000& 30X 9,000
HUlI =8I X& 75,000 75,000 0
= 10,697
< 12,569
s 51,734
301 et A3z 75,000 75,000 0
= 10,697
= 12,569
s 51,734
1MIIEESS 75,000 75,000 0
OZ2HIE= A 75,000
— HHEY =Ad X& 100& *750,000kg 75,000
= 10,697
< 12,569
[ia 51,734
HOI2 MelAld 1,288,997 1,167,896 121,101
HIIE MelAd 2¢ 602,163 451,245 150,918
101 14l 56,735 54,716 2,019
04 JI12ZtHZ22HEE = 56,735 54,716 2,019
oMl & HEES HE 56,735
—Jlas 48,2403 x4 200 38,592
—F5d 48,2403 x4H x40 7,719
— QX 48,2403 x4 H 7 1,351
- BEZ24UEE) 47,662,000 *14% 6,673
— ZHAH| 3,000 x4 200 2,400
201 Yer2 | 244,300 258,700 A 14,400
01 At 2t 2l 168,300 182,700 A 14,400
OHJIZE MelAlE 22X 2l
7,0003+x7H 100 4,900
Ogd =& ¢ X&Y S| X2 81,600
— =4 600,000& *83|x12& 57,600
—gDEY 500,000& 43| «12& 24,000
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2M: SAEZD
FM: Y MEsA R4 (S#ZES/HIISE)
S HIIE MelAl4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OMBAIE &R+ HIISA A ===2(HIIS
22 y) 32,800
— &&=+ 350,000& #4012 x128 16,800
— Xl ot= 250, 0003 * 12K A %4 3| 12,000
— XNE= 500,000& »20H 2 *43] 4,000
OAEZEZ MBAE(02,HZ) AFE22SE
A =2(HIIS22Y) 46,800
—&ot=d =8 6,000,000 24 A %13 12,000
—HEHIIE 24 1,200,000& *6H 2 13 7,200
—&HE+ 350, 000& *2JH A x43| 2,800
— Xl ot== 250,000 x6IH A 43| 6,000
- XNE= 500, 0003 *4JH A *43] 8,000
—ELQIET T A 1,200,000& *8IH 2+ 13 9,600
— AL JtAES 300,000& *40H 2 13 1,200
OHJIEXMeAE 28= 28 100,000 x4H 400
OBLAPBAMA HSH(HES 848 Z2A)
150,000 2% »23| 600
OHJIE MelAg 834 &7 7Y
300,000& *43] 1,200
02 =224l 76,000 76,000 0
OHIIS(HE, MHESIAME 3223 WA
3,500,000& x12& 42,000
Ost=HIl=gsaltl s 2,000,000& x13] 2,000
OANEZH SXUI(HE, HESAIE)
500,000& x10& *13] 5,000
OSoAHl CCTV Ar8 2= 15,600
— A&7 HE AL 500,000& »12& 6,000
—JIE A4 500,000& 123 6,000
—d4HJI2 HEH 300,000& »12& 3,600
OHIISEEMel¥ daH(ZHls &)
1,900 204 *3=*100 11,400
206 M= Hl 63,900 51,300 12,600
01 24l 63,900 51,300 12,600
OMas8dE 228 72 100,000 «105 *43] 4,000
ONgss 328 HEZly L (1EE)
10, 000& *5000H 5,000
OHYIIZ HEANE =EM 2L
2,000,000& *53] 10,000
OPETZ =D 2524 2 2,500,000& x1ton 2,500
QHIISMelAld LdAAZ(L4SH 12 )
30,000& 200 6,000
OUEAE M P (AHMNE 20¢ )
60,000& 100 6,000
OFE=+ ModAd AP (MR, IE) 14,400
— LY (HA) 100,000& »30& 3,000
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2M: SAEZD
FM: Y MEsA R4 (S#ZES/HIISE)
Sl HIIZ MelAld (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— It ACHH A 300,000& *12& 3,600
— SStH2E (Ha 20¢ /8) 15,000& 120 1,800
—24H3 (22 20kg/E) 20,0003 x50 1,000
— EABIE (22 20kg/E) 20,000& =100 2,000
— €Y AHNMHE EEE  4,000& *500kg 2,000
— XOtEAAMUES (HA) 20,000& x50 1,000
OFAZE 2EZE 2 (#Z, 023 8)
1,000& x50H 280 14,000
OHJIEXeAE HAES ¢
500,000& *43] 2,000
207 A RO 20,000 0 20,000
01 284 20,000 0 20,000
OMEHIIES MeldI 24 L HaEI 29
20,000,000& =13l 20,000
401 AIEHI L 201 117,628 85,000 32,628
01 A& HI 115,000 85,000 30,000
OUEAIE E= 20,000,000& * 100 A+ 14 20,000
OoMgs dEAE Ex(2FI )
2,500,000& »2& *23| 10,000
OHJIE MelAl&E W &EHl =4&4l
5,000,000& »23| 10,000
OHVISEEXMeE JY2 SHSA
20,000,000& =13l 20,000
ON&s dE€d L8] ISMO ALY i
SAHHIO &) 10,000, 000& * 13| 10,000
OMEE HdEZ AEIZE AXZAE EXSA
20,000,000& =13l 20,000
OMES HEE +XAFI(HHAS) 413
At 20,000,000& =13l 20,000
OA=HIIZS MHET 2FANE EF3A
5,000,000& =13l 5,000
03 AlE 2 THHI 2,628 0 2,628
OHJIE MelAl& AMEFEE AIERUHI
365,000,000& *0.72% 2,628
405 XHobF S HI 99,600 1,529 98,071
01 et ESFH S 99,600 1,529 98,071
OEH P (72HP) 88,000,0000& = 1CH 88,000
OgsLA Y (MHEEE 015)
5,000,000% »2CH 10,000
Ox2t2els Mo 3J1838) 2
1,600, 0002 = 1CH 1,600
HII2 22AE 29 686,834 716,651 A 29,817
101 @124 dl 201,206 171,991 29,215
04 JI1ZtHNZ2HEE 201,206 171,991 29,215




2M: SAEZD
FM: Y MEsA R4 (S#ZES/HIISE)
S HIIE MelAl4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O2x2ANE 29 185,749
—Jlzs 51,5203 x6H «250 77,280
-5 51,5203 x6H x50 15,456
— XY 51,5203 x6H x15& 4,637
— A2
6,4403 «6H «B0Al 2t 122 x50% 18,548
—ZU2ZRE
6,440 x6 % *50Al 2+ 123 *150% 34,776
— I SA B2 HY(AAHEE L] 2
el)=¢ 100,000& 6 122 7,200
— g 40,0003 x6H 123 2,880
— 2+AlH| 3,0003 6 ~10 128 2,160
—BE=Z4UEE) 162,937,000& * 14% 22,812
OA2AE 29 JIZH2EX EES(1EH014H) 15,457
— 148 ol & 51,520 x2H 30 3,092
—24 0ol& 51,5203 x4 x50 12,365
201 2ot 2 Y| 287,000 279,000 8,000
01 At 22l 63,200 74,000 A 10,800
OJAHINF Jtsd 7Y 300,000& =63l 1,800
OLZAE 228 2Y 1,000, 000& *43| 4,000
OA2tHI &M HOIZS Mel AE =2
200,000 100 20,000
omieg it =4 98 =2
500,000& *523 26,000
OA2AAE L0244 2F =2 (2 YN
2 =22 IE) 6,000,000& x13] 6,000
OLZAE AMRES 72 200,000& =123l 2,400
OL2AANE 2RE FY(LIHEG, 2E= S
) 500,000& x6H 3,000
02 =24l 223,800 205,000 18,800
OHJIIS (A2, Y HEE)ANE 2223 HA
13,500,000& 128 162,000
O&IItHHA =5 700,000& x12& 8,400
Oa=E @3 (42U, M8 5)
300,000& »12& 3,600
Oad F23E =82 1,000, 000& *12] 1,000
O2x2ANE 28 |RFH 1,700,000& = 12& 20,400
O=gef =2 & S 1,500,000& *43] 6,000
O3JIE=EI SFXNE= 3,000,000& »23| 6,000
OX2tAIE AIZZ 8l |XIH 1,000,000& 128 12,000
OHIIE ~2AE ZIIZ A 2,000,000& 13 2,000
OmJIg A22els s sh2el ==5(
HIIZAN & L) 200,000& =122 2,400
202 Odl 1,440 1,440 0




2M: SAEZD
FM: Y MEsA R4 (S#ZES/HIISE)
Sl HIIZ MelAld ool E )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 1,440 1,440 0
OBAINZAL (222 S) PPN o Hst
60,0003 x4H «63] 1,440
206 M= Hl 29,100 47,900 A 18,800
01 M= 4l 29,100 47,900 A 18,800
OXZANE 2F 435 + 29,100
— oy IEE Y A4A35 20,0003 +502 1,000
—FAABISE MY AAG
1,000,000& = 12& 12,000
— 328 24 1,300& x5,000kg 6,500
— o244 Mg 2gegE
600,000& »12& 7,200
—E2ge F& 50,000& 30 1,500
—0l2ua=X 3,000& *3004 900
301 et a = 1,900 1,320 580
09 HALAHIE& S 1,900 1,320 580
OSZANEEA HIISA2ZAIE AS FOIL 2
& 95,0003 x 10 2 1,900
401 A& HIZ 201 Y] 166,188 215,000 N48,812
01 A& HI 165,000 215,000 A50,000
O22ANE |X = 15,000, 000& 15,000
OA2Z SZH HUE WA ()
50,000,000& * 14! 50,000
o222 UateEs WH(R)
20,000,000& *23l 40,000
OA2=2 SAX(DHUOE)nM(ER)
30,000,000& *23l 60,000
03 Al S THHI 1,188 0 1,188
OHIIE A2AIE AIHFE AIZ R0
165,000,000 *0.72% 1,188
HREs(SASIN)(B#HEES/Mot+E - =8) 2,050,000 1,635,000 415,000
WEHHX S 2,050,000 1,635,000 415,000
AN HES 2,050,000 1,635,000 415,000
701 JIEtSI HSHE 2,000,000 1,600,000 400,000
01 JIEtSI HE =3 2,000,000 1,600,000 400,000
Ox=ZIMLEELES HES 2,000,000,000& 2,000,000
702 JIS¥ES 50,000 35,000 15,000
01 JI38&E= 50,000 35,000 15,000
O=sAZnFHII= 8&E3 (=2, UHE =
g=) 15,000, 000& 15,000
OHJISHeAE =EHXNGXNAIS(MIIEE
A 2HTHOH 2B o 10%) 35,000,000& 35,000




2M: SAEZD
= HE2GFUI (S AISZ ) (J1EHIIE
& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A2 (S AIZZ D) (IIEH/IIE) 131,392 130,672 720
Jl=&l 131,392 130,672 720
Jl=34 131,392 130,672 720
201 Let24d] 67,792 67,792 0
01 At 2teltl 67,792 67,792 0
ORNEA 1,831,000& »32H 58,592
O= &l 7,000 32 x25 5,600
OFNSAD X (ARA, BHIISH2IZ)
150, 000& =2CH x12& 3,600
202 oddl 57,600 58,560 A 960
01 SLHOYI 57,600 58,560 A 960
Oz ol 100,000& »32H » 128 38,400
O&2| o Hl 75,0003 x32H «8 19,200

]| 6,000 4,320 1,680

] 6,000 4,320 1,680
=l 500,000& x12& 6,000
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